Pythagorean

$con\theta = \frac{x}{R}$, $sin\theta = \frac{y}{R}$

$$(\cos\theta)^{2} + (\sin\theta)^{2} = \left(\frac{x}{R}\right)^{2} + \left(\frac{y}{R}\right)^{2}$$

$$= \frac{x^{2}}{R^{2}} + \frac{y^{2}}{R^{2}} = \frac{x^{2} + y^{2}}{R^{2}} = 1$$

$$(\cos\theta)^{2} + (\sin\theta)^{2} = 1$$

-> notation:

$$(\cos\theta + \sin^2\theta = 1)$$

True for any O

this is the first Pythagoroan Identity

Quotient Identities

$$sin\theta = \frac{y}{R}$$
, $tan\theta = \frac{y}{x}$

$$con\theta = \frac{x}{R}$$
; $cot\theta = \frac{x}{y}$

$$\frac{\sin \theta}{\cos \theta} = \frac{y}{R} = \frac{y}{R} \cdot \frac{R}{x} = \frac{y}{x} = \frac{\tan \theta}{x}$$

$$\frac{\sin \theta}{\cos \theta} = \tan \theta$$

True for all angle Θ such that $\cos \theta \neq 0$

$$\frac{\cos\theta}{\sin\theta} = \cot\theta$$

True for all angle

8 much that min 0 \$0



True for all angle Θ such that $\cos \varphi = \frac{\cos \theta}{\sin \theta} = \cot \theta$ True for all angle $\sin \theta = \sin \theta$ such that $\sin \theta \neq 0$



Thursday, September 14, 2017 2:18 P

Back to Pythagorean Identities:

$$\frac{\sin^2\theta + \cos^2\theta}{\cos^2\theta} = \frac{1}{\cos^2\theta}$$

$$\frac{\sin^2\theta}{\cos^2\theta} + \frac{\cos^2\theta}{\cos^2\theta} = \frac{1}{(\cos\theta)^2}$$

$$\frac{\left(\sin\theta\right)^{2}}{\left(\cos\theta\right)^{2}} + 1 = \left(\frac{1}{\cos\theta}\right)^{2}$$

$$\frac{1}{1000} \left(\frac{\sin \theta}{\cos \theta} \right)^{2} + 1 = \left(\frac{\cos \theta}{\cos \theta} \right)^{2}$$

$$\rightarrow (\tan \theta)^2 + 1 = (\sec \theta)^2$$

$$+ an^2 \theta + 1 = nec^2 \Theta$$

Why is this true?

$$\frac{2}{\cot \theta} + 1 = \csc^2 \theta$$
Why is this true?

$$\frac{\sin^2 \theta}{\sin^2 \theta} + \frac{\cos^2 \theta}{\sin^2 \theta} = \frac{1}{\sin^2 \theta}$$

$$\frac{\sin^2 \theta}{\sin^2 \theta} + \frac{\cos^2 \theta}{\sin^2 \theta} = \frac{1}{\sin^2 \theta}$$

$$\frac{1}{\sin \theta} + \left(\frac{\cos \theta}{\sin \theta}\right)^2 = \left(\frac{1}{\sin \theta}\right)^2$$

$$\frac{1}{1 + \cot^2 \theta} = \csc^2 \theta$$

$$\int_{0}^{2} e^{2\theta} + con^{2}\theta = 1$$

$$+ an^{2}\theta + 1 = ne^{2}\theta$$

$$\cot^{2}\theta + 1 = coc^{2}\theta$$

Pythagorean Identities.

$$\frac{\sin\theta}{\cos\theta} = \tan\theta$$
, $\frac{\cos\theta}{\sin\theta} = \cot\theta$

E.g. Given that
$$\cos\theta = -\frac{\sqrt{3}}{4}$$

Given that $\sin\theta > 0$

Find sin O and tano using the appropriate identities.

Sol:
$$\sin^2 \Theta + \cos^2 \Theta = 1$$

 $\sin^2 \Theta + \left(-\frac{\sqrt{3}}{4}\right)^2 = 1$
 $\sin^2 \Theta + \frac{3}{16} = 1$
 $\sin^2 \Theta = 1 - \frac{3}{16}$
 $\sin^2 \Theta = \frac{13}{16}$ $\sin \Theta = \pm \sqrt{\frac{13}{16}}$

Since we are given that
$$\sin \theta > 0$$
, we must have $\sin \theta = \sqrt{\frac{13}{16}} = \frac{\sqrt{13}}{\sqrt{16}} = \frac{\sqrt{13}}{4}$

$$\sin \theta = \frac{\sqrt{13}}{4}$$
.
 $\tan \theta = \frac{\sin \theta}{\cos \theta} = \frac{\sqrt{13}}{4} = -\frac{\sqrt{13}}{4}$.
 $\tan \theta = -\frac{\sqrt{13}}{\sqrt{3}} \cdot \frac{\sqrt{13}}{\sqrt{3}} = -\frac{\sqrt{39}}{3}$

E.g. Given that $\tan \theta = \frac{4}{3}$ and $\cos \theta < 0$. Find sin & and cos & using the appropriate identities.

$$+ an \theta = \frac{\sin \theta}{\cos \theta}$$
 $+ \cos \theta = \frac{4}{3} = \frac{\sin \theta}{\cos \theta}$
And $= -4$; $\cos \theta = -3$.

completely Wrong

$$\frac{1}{4} + 1 = \sec^2 \theta$$

$$\left(\frac{4}{3}\right)^2 + 1 = \sec^2 \theta$$

$$\frac{16}{9} + 1 = nec^2\theta$$

$$\Delta ec^2\Theta = \frac{25}{9}$$
; $\Delta ec\Theta = \pm \frac{5}{3}$

Since
$$\theta$$
 is in quadrant III, $\sec \theta = -\frac{5}{3}$.

Since
$$con\theta = \frac{4}{5}$$
, $con\theta = -\frac{3}{5}$

$$+ an \theta = \frac{sin \theta}{cos \theta}$$

$$\frac{4}{3} = \frac{\sin \theta}{-\frac{3}{5}} \longrightarrow \sin \theta = \frac{4}{3} \cdot \left(-\frac{3}{5}\right)$$

$$\Delta m \theta = -\frac{4}{5}$$

E.g.
$$sin \Theta = -\frac{5}{8}$$

 $sec \Theta > 0$

$$\int_{0}^{2} \int_{0}^{2} dt + \cos^{2}\theta = 1$$

$$\left(-\frac{5}{8}\right)^{2} + \cos^{2}\theta = 1$$

Tuesday, September 19, 2017 1:43 PM

$$\frac{25}{64} + \cos^{2}\theta = 1.$$

$$\cos^{2}\theta = 1 - \frac{25}{64} = \frac{39}{64}$$

$$\cos\theta = \pm \sqrt{\frac{39}{64}}$$

$$\cos\theta = \frac{\sqrt{39}}{8} = -\frac{5}{8} = -\frac{5}{8} \cdot \frac{8}{\sqrt{39}}$$

$$\tan\theta = \frac{\sin\theta}{\cos\theta} = \frac{-\frac{5}{8} \cdot \sqrt{\frac{39}{39}}}{\sqrt{\frac{39}{39}}} = -\frac{5\sqrt{39}}{\frac{39}{39}}$$